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Q.1 Multiple Choice Questions : (10)
(1) What is the percentage S character in SP* hybridization ?
(a) 25 (b) 33.33 () 50 (d) 100

(2) Which symbol is used to represent antibonding molecular orbital ?
(@ ocandn (b) candn (¢) oando (d) o andm
metals have lowest tendency to attract electron towards them.
(a) Alkali  (b) Thransition (c) P-block (d) Alkaline earth metal
(4) The correct order of ionization energy values for the elements of 2nd period.
(a) Li<Be<B<C<N<F (b) Li<Be<B<C<N>0>F
(¢) Li<Be>B<C<lv>O<F (d) Li>Be>B<C<N<O<F
(5) The position of elements in modern periodic table is still a matter of
dispute.
(@@ H () C (¢) Li (d He
(6) The shape of H,O molecule is

3)

(a) Triangle (b) bent (c) Tetrahedral  (d) Linear
(7)  Which of the following species has Unpaired electrons ?
(@) N, (b) O, (c) 0,7 (d) F,
(8) What is the bond angle in octahedral molecule ?
(a) 180° (b) 90° (c) 120° (d) 109°.28'
(9) Which repulsion between electron-pair is strongest one ?
(a) lone pair- bond pair (b) lone pair- lone pair
(c) bond pair-bond pair (d) None of these
(10) PClIs has geometry
(a) Trigonal bypyramid (b) Octahedral
(c) Square planar (d) Planar Triangular
Q.2 Fill in the blanks selecting the appropriate option given in the bracket. (08)
(1) Nobel gases have electron affinity than any other elements. (Zero/High)
(2) N; molecule is (Diamagnetic / Peramagnetic)
(3) Bond order of CN molecule is (2.1/2.5)
(4) 1 one pair are present on Oxygen atom of water molecule ? (2/3)
(5) Molecular Orbitals posses symmetry (curve/cylindrical)

(6) Minimum amount of energy required to case chemical reaction is called
(Chemical energy/Activation energy)

(7) S-S combination of orbitals yields type of molecular orbitals. (o/m)

(8) CsOH is (Basic/Acidic)
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Short questions (Attmpt Any 10) (20)
Why N, molecule is diamagnetic ?

Draw the structure of PCls and CIFs;.

Give the factors affecting magnitude of electron affinity.

Define effective Nuclear charge and shielding effect.

Give shape and bond angles of the molecule predicted by Sidgwick-Powel theory.

Why Helogen has a highest value of electron negativity. Why ?

Why alkali metals cannot form M jon ?

H; does exist by He, does not exist. Explain ?

Define electron probability function D.

(10) What are bonding molecular Orbital ?
(11) Define electronagativity.
(12) What is periodicity ?
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Long questions (Attempt Any Four) : (32)
Discuss the trends of ionization energy.

Define hybridization. Discuss the SP? hybridization in BF; molecule.

N molecule is diamagnetic and there is a triple bond between N-atom. Explain.

Describe Molecular Orbital treatment of : C, molecule

Discuss the factors affecting the magnitude of electron negativity.

Explain : P-P combination of Orbitals.

Write note on Sidgwick-Powel theory.

Discuss valence bond theory giving suitable example.
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